2013-03-11 Rallykisa IV

Jakotaulut

8 poytaa, 15 paria, 1 lepopari. Jakomdara: 26. Keski: 156,0. Lepokierros (*) antaa pelattu prosentti.
Keskimdarinen tasoitus: 11,1.

Sija Pari Pisteet %  Nimi Tas$% Tas Kerho Vp
1 7 191,3 * 61,3 Juho Na&ppad - Anne Vesanen 13,0 6,1 Salon BK 7
2 1 175,6 * 56,3 Pertti Lehtinen - Jaakko Viima 17,0 18,5 Salon BK 5
3 4 175,3 * 56,2 Taisto Louhikoski - Kari Launis 13,0 11,1 3,1 Salon BK 2
4 11 171,9 * 55,1 Merja Molsa - Reijo Haartola 17,0 12,5 11,5 Salon BK 1
5 12 171,3 * 54,9 Anil Nijhawan - Ensio Lehtinen 6,0 3,0 -20,5 Salon BK
6 10 168,2 * 53,9 Arvo Priimdgi - Patrik Eriksson 6,3 -24,7 Salon BK - Turun BK
7 8 155,3 * 49,8 Henrik Laaksonen - Leif Mickelsson 6,5 6,8 -13,7 Salon BK
8 2 154,8 * 49,6 Hannu Lindeberg - Tapio Kyrdnlahti 16,8 17,0 18,3 Salon BK
9 14 151,1 48,4 Lasse Saloranta - Risto Noki 16,2 16,9 17,1 Salon BK
10 9 149,5 * 47,9 Janne Holmgvist - Kimmo Kanerva 6,1 6,3 -15,2 Salon BK
11 3 148,7 * 47,7 Laura Alopaeus - Johanna Helenius 17,0 15,0 15,4 Salon BK
12 5 137,8 * 44,2 Stig-Olof Andersson - Harry Vuorinen 16,8 11,7 10,0 Salon BK
13 16 134,3 43,0 Jari Laakso - Jarmo Laakso 3,7 -28,7 Salon BK
14 6 132,3 * 42,4 Jouko Paajanen - Ulla Kakko-Paajanen 17,0 18,5 Salon BK
15 13 124,0 * 39,7 Antti Alen - Veli-Pekka Lukka 6,2 5,8 -15,8 Salon BK
Jako 1 Jako: 2
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 2 3N N +2 HS8 460 12,0 0,0 7 3 6H S +1 sS4 1460 12,0 0,0
13 10 3N S +1 C10 430 10,0 2,0 9 8 6H N = CQ 1430 9,0 3,0
7 3 3N S = cCl0 400 7,0 5,0 16 5 6H S = CQ 1430 9,0 3,0
16 5 3N S = s4 400 7,0 5,0 13 10 7Cx E -6 HK 1400 6,0 6,0
14 1 35S S = H6 140 4,0 8,0 4 2 4H S +2 CQ 680 2,0 10,0
9 8 3C N +1 H1O0 130 2,0 10,0 6 11 4H S +2 CA 680 2,0 10,0
6 11 5C N -1 D9 -50 0,0 12,0 14 1 4H S +2 C8 680 2,0 10,0
-- 12 Lepokierros 7,4 -- 12 Lepokierros 7,4
Jako: 3 Jako 4
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
14 2 3D E -1 HA 100 12,0 0,0 8 4 4Sx W -3 CK 800 12,0 0,0
7 12 3C N -1 87 -50 10,0 2,0 16 6 3N N +1 83 630 10,0 2,0
111 3H S -2 SA -100 8,0 4,0 10 9 3s W -3 D4 300 8,0 4,0
8 4 2H S -3 DJ -150 6,0 6,0 111 3D N +1 S3 130 5,0 7,0
5 3 25 W +2 HJ -170 3,0 9,0 5 3 3D N +1 83 130 5,0 7,0
16 6 2S W +2 DA -170 3,0 9,0 7 12 4D N -1 83 -100 2,0 10,0
10 9 1IN N -5 D3 -250 0,0 12,0 14 2 5Dx S -1 s3 -200 0,0 12,0
-- 13 Lepokierros 5,4 -- 13 Lepokierros 5,4
Jako: 5 Jako: 6
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
8 13 35S S = HJ 140 12,0 0,0 14 3 2N N = D2 120 12,0 0,0
6 4 4D N = HA 130 10,0 2,0 9 5 2H s = 87 110 10,0 2,0
2 12 4D N -1 HA -100 6,0 6,0 11 10 2H S -1 87 =50 7,0 5,0
9 5 5D N -1 HA -100 6,0 6,0 16 7 2H S -1 87 -50 7,0 5,0
14 3 5D N -1 HA -100 6,0 6,0 2 12 2N N -2 S5 -100 4,0 8,0
11 10 4Dx N -1 C3 -200 1,0 11,0 6 4 1IN W +1 C3 -120 2,0 10,0
16 7 6C N -2 HA -200 1,0 11,0 8 13 4H S -4 S6 -200 0,0 12,0
- 1 Lepokierros 6,0 - 1 Lepokierros 6,0
Jako: 7 Jako 8
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
10 6 2H N = 82 110 11,0 1,0 9 1 3Sx E -3 D8 500 12,0 0,0
12 11 2H N = CK 110 11,0 1,0 12 11 2N E -3 C3 150 10,0 2,0
7 5 3H N -1 D2 -100 7,0 5,0 10 6 1H S +1 CA 110 8,0 4,0
9 1 3H S -1cCA -100 7,0 5,0 16 8 3N W -2 C3 100 6,0 6,0
313 2D E +1 S8 -110 3,0 9,0 14 4 3D W -1 C3 50 4,0 8,0
14 4 3D E = HQ -110 3,0 9,0 7 5 3D W =C3 -110 2,0 10,0
16 8 4H S -3 S5 -300 0,0 12,0 3 13 4Hx S -3 SJ -500 0,0 12,0
2 -= Lepokierros 5,3 2 -- Lepokierros 5,3
Jako: 9 Jako: 10
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
16 9 1sx S = CJ 160 12,0 0,0 10 2 3Dx W -4 S6 1100 12,0 0,0
10 2 2N N +1 DA 150 10,0 2,0 8 6 3N S +1 CA 630 8,0 4,0
4 1 2N S -1 D7 =50 5,0 7,0 13 12 3N N +1 HJ 630 8,0 4,0
8 6 4S S -1 H9 -50 5,0 7,0 16 9 3N N +1 s8 630 8,0 4,0
11 7 35 S -1 D2 =50 5,0 7,0 14 5 3N N = DJ 600 4,0 8,0
14 5 2N S -1 D8 -50 5,0 7,0 11 7 2N S +2 D2 180 2,0 10,0
13 12 2Sx S -1 CJ -100 0,0 12,0 4 1 2SS S +2 CA 170 0,0 12,0



3 -- Lepokierros 5,1 3 -- Lepokierros 5,1

Jako: 11 Jako: 12
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
113 2D S -1 S4 -50 9,0 3,0 11 3 2S W -3 HK 150 12,0 0,0
5 2 3H N -1 SA =50 9,0 3,0 113 3N E -2 HJ 100 9,0 3,0
12 8 2H S -1 SA -50 9,0 3,0 16 10 3N W -2 HK 100 9,0 3,0
14 6 2C S -1 DQ =50 9,0 3,0 14 6 2C E +1 H9 -110 6,0 6,0
11 3 2N S -2 s4 -100 4,0 8,0 9 7 2D E +2 H9 -130 4,0 8,0
9 7 35 E = HA -140 1,0 11,0 5 2 2D E +3 C3 -150 2,0 10,0
16 10 2S W +1 C8 -140 1,0 11,0 12 8 3Hx S -2 SA -500 0,0 12,0
4 -- Lepokierros 6,6 4 -- Lepokierros 6,6
Jako 13 Jako 14
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
2 1 4H S +1 CA 650 9,0 3,0 10 8 7S W -1 DK 50 12,0 0,0
10 8 4H S +1 H6 650 9,0 3,0 12 4 1H W +6 S5 -260 10,0 2,0
12 4 4H S +1 D8 650 9,0 3,0 2 1 3N E = D3 -400 8,0 4,0
16 11 4H S +1 s10 650 9,0 3,0 6 3 4S5 W +1 DK -450 6,0 6,0
6 3 1H S +4 CA 200 2,0 10,0 13 9 4s W +2 DK -480 2,0 10,0
13 9 1H S +4 H2 200 2,0 10,0 14 7 4S W +2 DJ -480 2,0 10,0
14 7 1H S +4 H5 200 2,0 10,0 16 11 4S W +2 DK -480 2,0 10,0
5 -- Lepokierros 4,9 5 -- Lepokierros 4,9
Jako 15 Jako 16
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
3 2 4s S +2 C8 680 8,0 4,0 13 5 2C S +1 H9 110 12,0 0,0
11 9 4s S +2 D5 680 8,0 4,0 11 9 3N N -1 85 -50 10,0 2,0
13 5 45 S +2 C2 680 8,0 4,0 3 2 2S E = HK -110 8,0 4,0
14 8 4s S +2 D5 680 8,0 4,0 110 35 W = C5 -140 4,0 8,0
16 12 4s S +2 C2 680 8,0 4,0 7 4 2SS W +1 C4 -140 4,0 8,0
7 4 45 S +1 H9 650 2,0 10,0 14 8 2SS W +1 Cé6 -140 4,0 8,0
110 3S S +2 D5 200 0,0 12,0 16 12 4H S -3 SA -150 0,0 12,0
6 —= Lepokierros 4,4 6 —-- Lepokierros 4,4
Jako 17 Jako: 18
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 3 45 W -2 HJ 100 10,0 2,0 1 6 35S W -1 HA 50 12,0 0,0
8 5 4S W -2 H4 100 10,0 2,0 211 35S W = HA -140 8,0 4,0
13 16 3N E -2 S10 100 10,0 2,0 4 3 2S W +1 HA -140 8,0 4,0
12 10 5D E -1 HJ 50 6,0 6,0 12 10 3S W = HA -140 8,0 4,0
211 3N W D5 -400 4,0 8,0 8 5 35S W +1 HA -170 3,0 9,0
1 6 4S W = H8 -420 2,0 10,0 13 16 2S W +2 HA -170 3,0 9,0
14 9 3N W +1 D4 -430 0,0 12,0 14 9 3Hx N -2 SK -500 0,0 12,0
7 -= Lepokierros 7,1 7 -- Lepokierros 7,1
Jako: 19 Jako: 20
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
9 6 4s S = DA 420 12,0 0,0 116 25 W +1 D9 -140 8,0 4,0
1 16 4S5 N -1 DA -50 7,0 5,0 312 35S E = HJ -140 8,0 4,0
2 7 45 S -1 Cé6 -50 7,0 5,0 5 4 2SS E +1 C2 -140 8,0 4,0
312 35 s -1 Cé6 =50 7,0 5,0 9 6 35 E = HS8 -140 8,0 4,0
13 11 4s S -1 DA -50 7,0 5,0 14 10 2S E +1 HJ -140 8,0 4,0
5 4 4s S -2 HK -100 1,0 11,0 2 7 33 E +1 DA -170 2,0 10,0
14 10 4s S -2 C6 -100 1,0 11,0 13 11 3H N -2 SA -200 0,0 12,0
8 -- Lepokierros 6,5 8 -- Lepokierros 6,5
Jako: 21 Jako: 22
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
14 11 3s S +1 HA 170 12,0 0,0 4 13 2SS S = H10 110 12,0 0,0
4 13 5H wW -1 S10 50 10,0 2,0 14 11 3H E -1 C3 100 10,0 2,0
6 5 3H W +1 DA -170 8,0 4,0 112 33 s -1 HI1O0 -50 7,0 5,0
1 12 4S S -4 C5 -400 6,0 6,0 2 16 3C N -1 HA =50 7,0 5,0
3 8 4H W = HA -420 4,0 8,0 10 7 2N N -2 Hé6 -100 4,0 8,0
10 7 2Hx W +1 S3 -570 2,0 10,0 6 5 2H E = CK -110 2,0 10,0
2 16 4Hx W +1 S2 -690 0,0 12,0 3 8 4Cx N -2 HA -300 0,0 12,0
9 -- Lepokierros 6,3 9 -- Lepokierros 6,3
Jako: 23 Jako: 24
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
11 8 3C S +1 D10 130 12,0 0,0 4 9 5Cx W -4 H9 800 12,0 0,0
4 9 3D W -1 cC8 100 10,0 2,0 7 6 4H S = SQ 420 10,0 2,0
2 13 2C¢ S = D5 90 8,0 4,0 5 1 3N S = Cl10 400 7,0 5,0
316 2D W = C5 -90 6,0 6,0 11 8 3N S = C7 400 7,0 5,0
5 1 4C S -2 H9 -200 3,0 9,0 2 13 2s S +1 C7 140 3,0 9,0
14 12 2N N -2 D7 -200 3,0 9,0 316 2S S +1 Cé6 140 3,0 9,0
7 6 3N N -3 H4 -300 0,0 12,0 14 12 4H N -1 S7 =50 0,0 12,0



-- 10 Lepokierros 7,4 -- 10 Lepokierros 7,4

Jako: 25 Jako: 26
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
3 1 2D E +1 C4 -110 9,0 3,0 8 7 3N N = 5S4 600 12,0 0,0
6 2 3D E = H8 -110 9,0 3,0 3 1 35 W -3 D2 300 10,0 2,0
12 9 3D W = H3 -110 9,0 3,0 14 13 2S W -2 D8 200 8,0 4,0
14 13 1s E +1 CJ -110 9,0 3,0 12 9 1IN S +2 C5 150 6,0 6,0
4 16 3D E +1 CJ -130 2,0 10,0 4 16 1S W -1 D10 100 3,0 9,0
510 3D W +1 H3 -130 2,0 10,0 510 2SS W -1 CA 100 3,0 9,0
8 7 2D E +2 Cé6 -130 2,0 10,0 6 2 2H N -2 SK -200 0,0 12,0
-- 11 Lepokierros 6,2 -- 11 Lepokierros 6,2

Jakotaulut



